Quarter 3: Formal One Sample Hypothesis Test (Practice)

(Determine whether a z or t test is appropriate)  (Determine whether this is a one or two tailed test)


Age of Marriage A sociologist claims that the mean age at which women marry in the city of Memphis, Tennessee, is greater than the mean age of 25.0 throughout the entire state.  Assume the ages at which women in Memphis, Tennessee, marry are normally distributed with population standard deviation 
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.  The sociologist took a random sample of these women and obtained the following results:

	Age
	40
	29
	24
	29
	23
	28
	21
	29
	30
	24
	46
	21


Conduct a formal 5-step hypothesis procedure to test the sociologist’s claim.
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